D1vISION WITH A REMAINDER II (H - SET 3)

brvision Name:
Time: Score: A
n 8 +10= 1) 338 -8 =
2 437+ 10 = 17 81823 + 10 =
3 3364 + 5 = 1) 54696 + 10 =
) 431 +5 = 19) 38337 + 10 =
6326 + 3 = 200 85578 + 10 =
6 1251 + 10 = 20 5509 + 10 =
N 54833 + 8 = 2) 8380 + 10 =
5 50869 + 7 = 2) 3128 +5 =
99996 + 1 = 2) 2453 +5 =
1062297 + 7 = ) 93116 + 6 =
1 7921 = 10 = 26) 28947 =5 =
12) 6990 =+ 10 = ) 7354 +1 =
13) 1183 =5 = 28) 94815 = 10 =
1) 9143 = 5 = 20) 3807 =7 =
1519594 =6 = 30) 73812+ 8 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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